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Which of these is true of leeches?
They are hermaphrodites

Which of the statement is incorrect?
Trematodes are segmented worms

The larva of an Acantocephala eaten by a shrimp transforms into
Cystacanth

Which of these is not a protozoan parasite?
Chlamydomonas hedleyi

Which of these is not a type of asexual means of reproduction in protozoa?
Fragmentation

Which of these is not a demographic factor that affects disease manifestation?
Nutrition

A disease - causing parasite is called
Organism

Macracanthorhyncus sp. is a parasite of
Pigs

Which of these is not an example of the protozoan division mastigophora?
Entamoeba

In a parasite with indirect life cycle, the life cycle can be completed in all of these
except:
Superficial host
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